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NEdof=2;  % element/member DOFs (always 2 for uniaxial) 
 
NSdof=2; % structural DOFs 
 
 
% Define the code numbers 
CodeNum=[ 
3 1 
1 2 
2 4] % Each row corresponds to a member 
 
 
 
% Element stiffness matrix 
 
function K=Create_K(E,A,L) 
 
K=E*A/L*[ 
1 -1 
-1 1]; 
 
 
S=zeros(NSdof,NSdof); % Initialize [S]  
 
 
% Assembly algorithm 
 
function [S]=Assemble(S,K,MemNum,NEdof,NSdof,CodeNum) 
 
for KRow=1:NEdof  % loop over # of element DOFs(row) 
SRow=CodeNum(MemNum,KRow); 
if SRow<=NSdof    
for KCol=1:NEdof % loop over # of element DOFs (column) 
SCol=CodeNum(MemNum,KCol); 
if SCol<=NSdof   
S(SRow,SCol)=S(SRow,SCol)+K(KRow,KCol); % Build [S] 
end 
end 
end 
end 
 
 
 
 




